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1. In order to be successful, an organisation must change its goals according to the needs of the environment. Which characteristics of management are highlighted in this statement?                                                                                   1                                                                                                                
2. Give the meaning of terms –‘efficient utilization of resources’ and ‘effectiveness’ used in management.      1
3. What do you mean by ‘Procedure’?                                                                                                                                 1
4. Name any two activities undertaken at the top level management.                                                                       1
5. “Financial Market reduces the cost of transactions” – Comment.                                                                             1
6. The directors of a manufacturing company are thinking of issuing Rs. 20 lacs additional debentures for expansion of their production capacity. This will lead to an increase  in debt-equity ratio from 2:1 to 3:1. What are the risks involved in it ?                                                                                                                                                             1
7. “Buy 2 get 1 free” offer- Name the technique of sales promotion.                                                                         1
8. Who can file a complaint under the Consumer Protection Act 1986?                                                                      1
9. Compare between Functional Structure Vs Divisional Structure with following basis-
i. Formation
ii. Specialization
iii. Responsibility                                                                                                                                             3
10. Write down the remedies available to consumers under the Consumer Protection Act 1986.                         3
11. Gurpreet is the owner of an electronic showroom. He wants an experienced sales manager and accounts manager. For this, he gives an advertisement. Thirty people apply for the job. He selects the two best persons out of a number of prospective candidates for a job. Mr. Gurpreet gives sales target to sales manager and assigns work to accounts manager. The sales manager achieved his sales target one month in advance. His achievement was displayed on the notice board and a certificate for the best performance was awarded to him by the owner of the showroom.
          (i) Name the source of recruitment which is used by Mr. Gurpreet to fill the above post.           
 (ii) Which test help Mr. Gurpreet to find out the skills and abilities possessed by the candidate  relating to the job during selection process?
          (iii) Name the type of incentive awarded by Mr. Gurpreet to a sales manager.                                               3

12. Ankit has 1500 equity share of Veenita Ltd. He wants to sell 1000 of these shares. Which market should
          he approach? Write any two advantages of that market.                                                                                       3

13.  The function and performance of a person that comes under a particular level of management are vital to any organisation because he is directly related with workers whereas other managers have no direct touch with bottom level workers.He plays a key role in maintaining group unity among workers placed under control and sorts out internal differences and maintains harmony among workers.
     Identify the name and designation of that person and explain the role and funtion in the organisation.  
                                                                                                                                                                                                      3
14. Explain ‘Threat from MNC’ and ‘World Class Technology’ as impacts of change in the Government policy on
business and industry.                                                                                                                                                               4

15  Sunanda Papers decided to set up its industrial unit in backward village of Madhya Pradesh, due to its strategic location i.e. easy availability of wood to make paper.  Moreover, due to unemployment, cheap labour is available in abundance.  The village has no electricity so it decided to tap renewable solar energy in place of using diesel generators to meet its power requirements.  The government offered industrial land at cheaper rate for the development of backward area and also provided subsidy for installing solar panels.  
a) Identify the two dimension business environment discussed in above case by quoting the line .
b) Also identify and explain from the given case the two benefits reaped by Sunanda papers by understanding the business environment.
                                                                                                                                                                                                  4
16.   ‘Though planning is an important tool of management, yet it is not a remedy for all types of problems’. Do you agree with the statement? Give any four reasons in support of your answers.                                                        4
                                                                                                                                                                                                           
17.  How ‘staffing’ is termed as a part of ‘Human Resource Management’.                                                             4
18.  Explain any four factors which affects the requirements of Fixed capital of a company.                                 4
19.  A Cosmetics manufacturing Co. of Kolkata claims in advertisement that its face cream will remove        the dark complexion of women permanently within one week. On using it was found incorrect.
i. Write any two values affected here.       
ii. Explain the concept of marketing is used ?                                                                                     4
20.The Employees of  Shah Ltd. , a software company, have formed a dramatic group for their recreation. Name the type of organisation so formed and state itsfour features.                                                                                              5

21.  Discuss Maslow’s Need-Hierarchy theory of Motivation.                                                                                    5
 22. XYZ Ltd. is a very reputed company dealing with the assembly of laptops.The company takes  decisions On the basis of scientific approach and conducted the 'Time' and 'Fatique' study and concluded that on an average a worker can assemble minimum five laptops in a day. Total fifty worker are engaged in the factory so atleast 250 laptop must be assembled . The factory is fully neat and clean and there is provision of free lunch at interval time. All the workers are happy. But only 200 laptops are produced that can not be ignord . The reason the company compared actual performance of each worker and observed through C.C.T.V. that some of the workers were busy in gossiping. 
(a) Identify the function of management discussed in the above paragraph.
 (b) State those steps in the process of the function identified which are discussed in the above paragraph.
                                                                                                                                                                                                       5
23.   An organisation follows the principles of management. Write one positive and adverse effects of each of the following principles of management on the organisation?
a. Unity of command,
b. Order, and
c. Stability of tenure of personnel                                                                                                    6

24.  There are number of factors which affect  the fixation of the price of a product. Explain any four  such factors.  6                                                                                                                                                                                                                                                                             

25.    Discuss the six regulatory functions of SEBI.                                                                                                               6                     
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